Math in English Brain Teasers level 2 #9
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puzzle2 puzzle 3
What is the odd number Which number completes
out? the pattern ?
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What letter completes the sequence ?
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M:thin English Brain Teasers level 2 #9

Answer to brain teasers

puzzlel: B
The difference between the dice in the top row and those in the

bottom row is 2.

puzzle 2 : 36
36 is the only number with an odd digit in it.

puzzle 3 : 7
In each row the left and right number multiply to the 2 in the

middle.

puzzle4: H
The sequence follows a +2 and minus 1 letter value pattern.
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